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General Instructions :
(1) The question paper comprises of two sections, A and B. You are to attermpt both the
sections,
(ii)  All questions are compulsory.
(iit) There is no overall choice. However, internal choice has been provided in all the three
questions of five marks category. Only one option in such questions is to be attempted.
(iv) All questions of Section A and all questions of Section B are to be attempted separately.
(v)  Questions number 1 to 6 in Section A and 17 to 19 in Section B are short answer type
questions. These questions carry one mark each.
(vi) Questions number 7 to 10 in Section A and 20 to 24 in Section B are short answer type
questions and carry two marks each.
(vit) Questions number 11 to 14 in Section A and 25 and 26 in Secz‘aon B are also short
answer type questions and carry three marks each.
(viti) Questions number 15 and 16 in Section A and question number 27 in Section B are
long answer type questions and carry five marks each.
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SECTION A
T H

Balance the following chemical equation :

Fe (s) + H,O (g) = Fe, 0, (s) + H,, (g)

frafafaa Toafe S & ddfaa ST

Fe (s) + Hy,0 (g) > Fe O, (s) + H, () -

Why is respiration considered an exothermic process 7

oS F SR ufskar o4 wEr S 2 2

How does the flow of acid rain water into a river make the survival of aquatic life in the

river difficult ?

A H yaifed & Sar @ @ T F Selg el &l
2
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cil. Draw the following diagram in your answer-book and show the formation of image of the

object AB with the help of suitable rays. 1

4 U U HRE 1 A WY § e Sugw RO @ werdr § | AB @

yfdfos a9+ fe@Ry |
AX/
C F L P

C

5. Why is a series arrangement not used for connecting domestic electrical appliances in a

- cireuit ? 1
ol fagd WfEl &1 990 #0999 3% 9Rog # goieem d H 9 e S ?
6. Out of 60 W and 40 W lamps, which one has a higher electrical resistance when in

use ? i |

W%wsowa?(mW%ﬁmﬁﬁ%mﬁrﬁgﬁuﬁﬁHﬁ%@m%?

- 7. Write the chemical formula for washing soda. How.may it be obtained from baking

soda ? Name an industrial use of washing soda other than washing clothes. 2

g die & TEEtHe g fafaw | @ afEr dier ¥ 6 TR T R 9w § 2
U g9 & fafts wEd SiEr @ S s = sieiie suam fafau |

8. Give an example of a decomposition reaction. Describe an activity to illustrate such a

reaction by heating. 2

faarem (erawes) fufsr =1 us I fafae | w3 W v fer srfufear &
N F feEm & foau o8 & ey & v Fivw |
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Draw ray diagrams to represent the nature, position and relative size of the image

formed by a convex lens for the object placed :

(a) at 2F1.

(b)  between F; and the optical centre O of lens.

et S o g S SRt @) v, feft ol oM wRe S S RO sha
Eiget eyiey Safs faa & @ T @ o
(31) o9 & oF, frg W |

@) " & fag F, 3R ywE F=% 0 F A |

What is meant by the term, ‘magnetic field ? Why does a compass needle show

deflection when brought near a bar magnet ?

T 87 UC W F qad @ 2 geed § (Reme) & Rl o e % e
@ W 3R R 4t gar g 2

(a) Why are covalent compounds generally poor conductors of electricity ?

(b) Name the following compound :

H H

I | :
H-C—C—C—H

I [ |

H O H

(¢) Name the gas evolved when ethanoic acid is added to sodium carbonate. How would

you prove the presence of this gas ?

(37) wegant e oo fagd & &9 <o (Faes) & 8 § 2

@) frfafeag e & 9w fafa -

H H

I I
H—-—C—C—C—H

I [ I

H @ . H

(¥) wﬁaﬁmwsﬁﬁwaﬁlﬁzmqmwwﬁ@mﬁ?ﬁ
2 1 U W W & 3yl 39 fag 4 ?
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. (a) What are amphoteric oxides ? Choose the amphoteric oxides from amongst the
following oxides :
Nazo, Zno, A].203, 002, H20
(b) Why is it that non-metals do not displace hydrogen from dilute acids ? 3

(31) swaydf sifeaes w0 B § 2 fr sfieeel § @ swawd sifemel @ ow@A
FifeT

NaQO, ZDO, A1203, 002, H20

(@) T A § fE et 9 or faere § Eneed i faerm W@ R 2

13.

14.

3111

Two lamps, one rated 60 W at 220 V and the other 40 W at 220 V, are connected in
parallel to the electric supply at 220 V.

(a) Draw a circuit diagram to show the connections.
(b)  Calculate the current drawn from the electric supply.

(c)  Calculate the total energy consumed by the two lamps together when they operate
* for one hour. 3

3 ol i STTAET 220 V R 60 W 3R 220V W 40 W E, FI 220 VA e
§ ured wH # Ser T R

(37) =9 doed e & fou oftuy emw @ifaw |
(@) fagd o9fd § o fagd 9w 9iefad i |
(¥) 39 9O § qFf ol 5 U uve F IUYT FA SN URGAd Hieg |

(a) Distinguish between the terms ‘overloading’ and ‘short-circuiting’ as used in domestic

circuits,
(b)  Why are the coils of electric toasters made of an alloy rather than a pure metal ? 3
(37) =g Wl & gef F ‘e gur ‘agu o F 4% FINT
@ fagg il 3 A s (Fgart) ﬁ*ﬁ uig § A s el faseg 9
ST ST 82
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15. On the basis of Mendeleev’s Periodic Table given below, answer the questions that follow

the table :

Group | I nr | I \Y vi | VI | VIl
= .

Oxide | R,0 | RO | R,05 | RO, | R,O; | RO; | RO, RO,

Hydridel| RH | RH, | RH, | RH, | RH, | RH, | RH

3

Periods A B|A B|A B|/A B|A BA B|A B Transition
l series
3 H
! 1-008
9 Li Be B Cc N O F
6-939 |9-012 |10-81 (12-011 |14-007 [15-999 [18-998
3 Na Mg Al Si- P 8 -]l
22-99 (24-31 |29-98 (28-:09 |30-974 |32:06 |35-453
4 First  |K Ca Sc Ti A% Cr Mn | Fe Co Ni

series :[39-102 |40-08 44-96| 47-90| 50-94] 50-20| 54-94|55-85 5893 5871

Second Cu Zmn|Ga Ge As Se Br
series :| 63-54| 6537|6972 (7259 |74:92 |78:96 |[79-909

5 First |Rb Sr X Zr Nb Mo Te|Ru Rh Pd

~series :|85:47 |87-62 88-91| 91-22f{ 962:91] 9594 99/101-07 102:91 1064
Second Ag Cd |In Sn Sh Te I '
series :| 107-87| 112-40[114-82 (118:69 |121-75 [127-60 |126-90

6 First Cs Ba La Hf Ta W Os Ir Pt
series :{132-90 [137-34 | 138:91| 178-49| 180-95| 183-85 190-2 _192-2 195-09
Second Au Hg |TI Pb Bi :

series :| 196-97| 200-59|204-37 [207-19 [208:98

(a) Name the element which is in
G I group and 3" period.
(ii) VII*" group and 2"¢ period.
(b)  Suggest the formula for the following :
(i)  oxide of nitrogen
(ii) - hydride of oxygen

(¢) In group VIII of the Periodic Table, why does cobalt with atomic mass 58-93 appear
before nickel having atomic mass 5871 ? : :

(d) Besides gallium, which two other elements have since been discovered for which
Mendeleev had left gaps in his Periodic Table ?

31/1 ' 6
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(a)
(b)
(c)
(d)

(e)

HOoNO -

Using atomic masses of Li, Na and K, find the average atomic mass of Li and K and
compare it with the atomic mass of Na. State the conclusion drawn from this
activity.

OR
Why do we classify elements ? '
What were the two criteria used by Mendeleev in creating his Periodic Table ?
Why did Mendeleev leave some gaps in his Periodic Table ?

In Mendeleev's Periodic Table, why was there no mention of Noble gases like
Helium, Neon and Argon ?

Would you place the two isotopes of chlorine, Cl-35 and Cl-37 in different slots
because of their different atomic masses cr in the same slot because their chemical
properties are the same ? Justify your answer.

ﬁaﬁﬁﬁqwm%mwﬁmﬁr@am%mw

gReRS | RH | RH, | RH, | RH, | RH, | RH, | RH

qie I n I v A% VI Vil VIII
—>
sfFge| RO | RO | RO | RO, | R,0; | RO; | R,O, RO,

amad |A B|A B|A B|A B|A B|A B|A B g Ui
H

1 1-008

3 Li Be B C N 0 F
6939 [9:012 |10-81 |12:011 |14-007 {15-999 |18-998

3 Na Mg Al Si oy S Cl
2299 |24-31 [29:98 |28:09 |30-974 |32:06 |35-453

4 999 K Ca Sec Ti Vv Cr Mn | Fe Co Ni

39-102 (40-08 44-96| 47-90| 50-94] 50-20| 54-94|55-85 5893 5871

Cu Zn|Ga Ge As Se Br
63-54| 65-37|69-72 |72-59 |[74-92 |78-96 |[79-909

93}

Rb Sr Y Zr Nb Mo Tec|Ru Rh Pd
85-47 |87-62 88:91| 91-22| 9291 9594 991101-07 102-91 106-4

Cd |In Sn Sb Te 1
107-87| 112:40{114-82 {118:69 |121-75 [127-60 |126-90

=]

1% 34)93 3543 2
&

Cs |Ba La Hf| Ta W 10s = Ir - Pt
132-90 (137-34 | 138-91| 178-49| 180-95| 183-85 190-2 192:2 195-09

Au Hg (Tl Pb Bi
196-97| 200-59|1204-37 |207-19 |208-98
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~

fefafad & fau ¥ gasce

() AN H RS

(i) ST HESIES

R WM % W VI E ST ), R T A ss0a 8, Frver forwe
QA TSI 58718, § UEe & W@ T 8§ ?

Hfeam & fafe 39 @ o aw@l & AW fafey st @ #=eds & e
s woft § f @ oled & 98§ |

Li, Na T4 K & TOHY] X501 &1 3YA &3 Li 991 K 6 36 THV] FFAH
T FIGT 3R A TAT Na & W] FEM T HNC | 39 fRAwem @
frret T frsRd &1 oo WIS |

srorar
¥ dxal & ST o R § 2 ‘
aed Ol 1 T FRd T Aeels g HUAIC T & WIISUS =y 4 2
T2els § o od g # g fiw we w o Ry & 2
Feel% & aEd grol # gifgw, i a9 e SE soeE 4 @ oo w1
Tl feper T a2

FAT AT FAGA F G GEAAHT C1-35 T C1-37 F IAF WA FEEA 4F BH &
T foa-fis WAl W @A 19 U H79 TS 0 FEE 28 5 R0 0F

g WA W W@ ? 9 W A fE s

What is meant by dispersion of white light ? Describe the formation of rainbow in
the sky with the help of a diagram.

What is hypermetropia ? Draw ray diagrams to show the image formation of an
object by :

(1) Hypermetropic eye
(ii) Correction made with a suitable lens for hypermetropic eve.
OR
Giye reasons for the following : :
(i)  Colour of the clear sky is blue.
(i1) The sun can be seen about two minutes before actual sunrise.
(iii) We cannot see an object clearly if it is placed very close to the eyes..

What is Presbyopia ? Write two causes of this defect.

g
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(31) YeT I AT W A S § 7 S & werEar § S s a
& JUA FHiST |

(@) arfefe 9w o e B 7 FRr eRGl # wema O fre uRfefel § e
Sfafara = w=ar fTEET

VR T e e e 4
(i) BYLH @ I aEGE AN 5 H W EH
TeTET

() fa=fafEg & fou s fafag
() TS OTERIT T 10 SArE @ g |
(i) gﬁ%wﬁﬁmﬁﬁﬁ?mﬁwﬁrmﬁﬁﬁ@ﬁ@ﬁ%ﬁw
# |
(i) Ay fot fors &t 390 & w5 free @0 e A % wE @ e S owE |
(1) SU-giefear <9 #1 8fT & 2 39 S % ©f ®AvT farg |

SECTION 1B
T &
17, Which one of the following is a renewable resource 7
Natural gas, Fetroleum, Ground water, Coal I
Ffefas § o &t Fee0it g g 2

18, What is the effect of DNA copying which is not perfeetly accurate on the reproduction
process Y

EGLIE 0 0 NP e M 7 e 5 |l 1 = M o 1 3 s O AP

19. How do autotrophs oblain CO, and N, to make their fopd ?

WS S S A % fau co, wHT N, O B oA € 7

20. List any four characteristics of biogas on account of which it is considered an ideal fuel,

T # FE 9N AR w1 SeE S S S 5 U ey dun W S
# |

21. [Nscuss one limitation each for the extracting of energy from :
ta}  winds

thy  tides. 2

3111 g P.T.0:
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27.
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frafafag ¥ 7% A I TE SO 9@ - 9 % R SR

(31) wo
() =R

Write one function each of the following components of the transport system in human

beings :

(a) Blood vessels

(b)  Blood platelets

(¢) Lymph

(d) Heart

oHe # 98 93 & FefafEad sew & te-us &9 fafau
(37) R afged

(@) & o

(®) e

(2 T

Name one sexually transmitted disease each caused due to bacterial infection and

viral infection. How can these be prevented ?

g 7 F AW faf@e | 37 W0 ¥ 9 S=r ST a1 2 2

What are fossils ? What do they tell about the process of evolution ?

Stared #1214 § ? T faw W § ey § w Seed ww e g 7

How is ozone formed in the upper atmosphere ? Why is damage to ozone layer a cause of

concern to us ? What causes this damage ?

AYAVEA & HIG AT H IS K I 2.2 ISA W & &fq g T Ew @

fawg 541 2 ? 39 af9 & SR 47 & 2

How are oxygen and carbon dioxide transported in human beings ? How are lungs

designed to maximise the area for exchange of gases ?
ag H AdieF 99T S SRAFNRS & IiEed ¥ YHR B
% fou orpe & fesiea § oifusow mee 3@ wWEISG @ ®

e

)

(a) Draw the structure of a neuron and label the following on it :
Nucleus, Dendrite, Cell body and Axon
(b) Name the part of neuron :

(i) where information is acquired. -
(11) through which information travels as an electrical impulse.

OR

10

? g % fafm




(a) - What is (i) phototropism and (ii) geotropism ? With labelled diagrams describe an
activity to show that light and gravity change the direction that plant parts grow in.

(b) Mention the role of each of the following plant hormones :

() Auxin o0

(i) Abscisic acid -
(31) dfaiferR & @@= w1 o g 39 | ffafas &t Jmifea ST
(@) = & 39 9 57 9% fofau .

() Rl guad Iufd &t St §

i) o9 B gEAT fagd emam S 9ifd T R € |

g

(3) ) TR T i) e 1 A § 2 iy smEl @ weww § R
UH BRAeay &1 U HINT S 98 ST 3 6 SR 991 Tocd URY & ghg ardt
a7 & feen & ufefdd & ed

(@) fefafed oy g & gfte fafew .

(i) A
(i) Ufeufas 3
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